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Algebra Basic Skills 1	Page 1
	Solve for c:
9 + c = 15		c =


	
	Solve for h:
10 – 6 = h	h =	

	Evaluate:
12 + (–8) + 3


	
	Simplify:
9 – 4d + 2 + 7d

	Simplify:
2x + 4 + 3x + 5


	
	Simplify:
5(3 – n) – n


	Solve for k:
4 = 12 – k	k =	k =


	
	Solve for q:
(q)(5) = 30	q =
	

	Simplify:
4(3 + u) – 7


	
	Simplify:
2 + w(w – 5)

	Simplify:
b + b + 2b


	
	Simplify:
[bookmark: _GoBack]4 – 7b + 5(b – 1)

	Solve for r:

	r =
	
	
	Solve for n: 
1 foot = 12 inches 
5 feet = n inches	n =

	Simplify:
7 – 3(x – 2)


	
	Simplify:
u + 2u – 4u


	Evaluate:
–5 + (–4) – 1


	
	Solve for x:
7 = x + 4	x =
	

	Solve for c: 
9 = 63  c	c =


	
	Simplify:
–5(q + 3) + 9


	Simplify:
2(k – 1) + 4 + 5k


	
	Evaluate:
(3)(–6)


	Simplify:
8m – 9(m + 2)


	
	Simplify:
y2 + y – 4y + 3y2

	Solve for x:
3 feet = 1 yard
x feet = 9 yards	x =				
	
	Solve for m:

	m =





	Evaluate:
4 – (–2) + 8


	
	Solve for h:

	h =	

	Simplify:
5k + 3 – 2(k + 7)


	
	Simplify:
7b – 4 – 3 – 2b


	Solve for m:
3  8 = m	m =


	
	Simplify:
2w – 3(w – 4)

	Solve for d:
d – 5 = 8	d =


	
	Solve for v:
6 + 7 = v	v =
	

	Simplify:
v(6 + v) – 3v


	
	Evaluate:
–5 + 6 – 6

	Simplify:
–3w2 + 5w2 – 5 + 12


	
	Simplify:
3(c + 2) – 2c

	Solve for x:
4 quarts = 1 gallon
x quarts = 3gallons 	x =

	
	Solve for y: 
1 pound = 16 ounces
y pound = 8 ounces 	y =

	Simplify:
9 – 4(v + 2)

	
	Simplify:
6a + 2a – 9 + 3a2


	Solve for r:
28 = 4r	r =


	
	Simplify:
–3(3 + u) – 2u + 5

	Solve for n:

		n =
	
	
	Solve for d:

	d =	

	Simplify:
16 + 3(p – 4) – 2p


	
	Simplify:
2c – 3c – c

	Simplify:
3w – 8w + 2 + 9


	
	Solve for h:
h  6 = 8 	h =


	Simplify:
6c – 3(c + 2) + 8

		
	
	Evaluate:
(–1)(–5)	
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